E Mot 3es nombres < 20
Moitié 14 = Moitié 16 =
Moitié 10 = Moitié 12 =
Moitié 18 = Moitié 8 =
Moitié 18 = Moitié 12 = = 0T 210w = Q0T @2nIow
Moitié 10 = Moitié 14 = - t ETGITY = 71 'a!uow
Moitié 4 = Moitié 20 = = 0z 21IOW = 0z @anow
Moitié 12 = Moitié 12 = = 9T 2NIoW = 91 'a!uow
Moitié 16 = Moitié 16 = = 0T 210w = 0T @2nIoWw
Moitié 12 = Moitié 14 = = ¢ 9noW = 9T anlow
Moitié 18 = Moitié 10 = = 9 noW = 81 9nION
Moitié 14 = Moitié 14 = = 8 9noW = 8 onow
Moitié 2 = Moitié 12 = = 0T 2nIOW = 9T @2nIoWw
Moitié 18 = Moitié 6 = = 8T 210N = ¥ anow
Moitié 16 = Moitié 14 = = 9T aniow = 9 anow
Moitié 20 = Moitié 18 = = T 210N = 7T @2now
Moitié 10 = Moitié 20 = = TT anow = 0T @anoW
Moitié 6 = Moitié 10 = = 9T 210N = 7T @2now
Moitié 10 = Moitié 18 = = g8 321oW = 9T aniow
Moitié 8 = Moitié 16 = = ¥ JNIoW = 81 'a!uow
Moitié 2 = Moitié 8 = = g9 321noW = § 2now
Moitié 20 = Moitié 14 = = v 2NIOW = 71 'a!uow
Moitié 2 = Moitié 12 = = 8T 210N = 8 anow
Moitié 12 = Moitié 2 = = 0CZ 9noW = 81 9nIOW
Moitié 18 = Moitié 4 = = 7 onow = v 9noW
Moitié 8 = Moitié 14 = = vI_ 910N = 8 onow
Moitié 4 = Moitié 2 = = ¥ 200w = 8T onoW
Moitié 18 = Moitié 20 = = 7 210w = I @niow
Moitié 8 = Moitié 18 = = T 200w = T 9now
Moitié 12 = Moitié 4 = = T 210N = 0z @2now
Moitié 4 = Moitié 6 = = 8 2nIoW = T 9now
Moitié 18 = Moitié 14 = = 9T 210N = g a2now
Moitié 14 = Moitié 6 = = ¢ 210w = T 2NIOW
Moitié 12 = Moitié 16 = = 0T ETTGIT = 9 'a!uow
Moitié 10 = Moitié 12 = = 0¢ 210w = 0T @2nioWw
Moitié 12 = Moitié 14 = = 8T 2NIOW = 0¢ 'a!uow
Moitié 6 = Moitié 16 = = tT 2NI0OW = 9T @2nioWw
Moitié 4 = Moitié 18 = = 9 anow = 8T aniow
Moitié 16 = Moitié 10 = = ZT aniow = ¢ 9now
Moitié 8 = Moitié 8 = = 190w = v1_9nIoN
Moitié 18 = Moitié 6 = = 0T anow = 81 onoW
Moitié 16 = Moitié 12 = = $T 210N = I @niow
Moitié 10 = Moitié 10 = = 9T aniow = 9T anoW
Moitié 16 = Moitié 16 = = ZT 210w = 7T @2now
Moitié 20 = Moitié 20 = = 0Z 2nIow = ¥ 9now
Moitié 12 = Moitié 4 = = vT 210N = 0T @2nIow
Moitié 14 = Moitié 14 = = 8T 210N = 07 @onIoWw
= 8 3now = 8T anon
= CT 32BIoON = 0T @910
= 9T 3aniow = vI 390N
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